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Exercise

1. If A={1,3,5,7}and P(A)be the power of set A,then

find which one of the following is true___

A. a){1, 3} ⊆ P (A)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_jETdENqCU8fI


B. b)

C. c)

D. d)None of these

Answer:

Watch Video Solution

{1, 3} ⊂ A(A)

{1, 3} ∈ P (A)

2. Which one is true ?___

A. a)

B. b)

2 + 3i > 1 + 4i

3 + 3i > 6 + 2i

https://dl.doubtnut.com/l/_jETdENqCU8fI
https://dl.doubtnut.com/l/_4EmFfCFH07py


C. c)

D. d)None of these

Answer:

Watch Video Solution

5 + 9i > 5 + 6i

3. The sum of the first 26 odd numbers is __

A. a)

B. b)

C. c)

(26)4

(26)3

(26)2

https://dl.doubtnut.com/l/_4EmFfCFH07py
https://dl.doubtnut.com/l/_YxS62IWJPI0M


D. d)

Answer:

Watch Video Solution

(26)5

4. If the  term and the  term of an A.P. are

respectively , then the  term

of the A.P. is

A. a)

B. b)m/n

C. c)1

mth nth

and
1

n

1

m
(mn)th

1

mn

https://dl.doubtnut.com/l/_YxS62IWJPI0M
https://dl.doubtnut.com/l/_uNs2ZqQaDM2T


D. d)n/m

Answer:

Watch Video Solution

5. The equation of a line which makes concentric

to the circle and

passes through the origin is __

A. a)y=x+3

B. b)y=3

C. c)x=3

x2 + y2 − 4x + 2y − 20 = 0

https://dl.doubtnut.com/l/_uNs2ZqQaDM2T
https://dl.doubtnut.com/l/_IBUrW4lmiN3j


D. d)None of these

Answer:

Watch Video Solution

6. The length of diameter of the circle concentric

to the circle and

passes through the origin is___

A. a)10 unit

B. b)

C. c)

x2 + y2 − 4x + 2y − 20 = 0

√20unit

√5unit

https://dl.doubtnut.com/l/_IBUrW4lmiN3j
https://dl.doubtnut.com/l/_fA48Es0IzLKz


D. d)None of these

Answer:

Watch Video Solution

7. The value of `lim_(xrarr0)(1-cos(x/3))/x^2'

A. a)13

B. b)9

C. c)1/9

D. d)1/18

https://dl.doubtnut.com/l/_fA48Es0IzLKz
https://dl.doubtnut.com/l/_GQQtZPhltGgG


Answer:

Watch Video Solution

8. If f(x)=3x+2,then the value of f'(-3)is

A. a)0

B. b)3

C. c)-3

D. d)Does not exist

Answer:

https://dl.doubtnut.com/l/_GQQtZPhltGgG
https://dl.doubtnut.com/l/_j32bBdG7C90w


Watch Video Solution

9. If then the value of x is___

A. a)100

B. b)10

C. c)81

D. d)64

Answer:

Watch Video Solution

+ =
1

8!

1

9!

x

(10) !

https://dl.doubtnut.com/l/_j32bBdG7C90w
https://dl.doubtnut.com/l/_PGfyeI8SXtJx
https://dl.doubtnut.com/l/_RsLX24x3QBsk


10. The value of

is ___

A. a)2

B. b)4

C. c)1

D. d)-1

Answer:

Watch Video Solution

(tan 9∘ − tan 27∘ − tan 63∘ + tan 81∘ )

https://dl.doubtnut.com/l/_RsLX24x3QBsk


11. Write down the power set of 

Watch Video Solution

[ϕ]

12. A relation R defined on N.(the set of all

naturals numbers)is defined as follows:

.Find he

domain of R.

Watch Video Solution

R = {(x, y) ∈ N × N, 2x + y = 24}

13. Prove that cot 70∘ + 4cos 70∘ = √3

https://dl.doubtnut.com/l/_BZ6vIpTXUI64
https://dl.doubtnut.com/l/_lsFOtpQT7Cwu
https://dl.doubtnut.com/l/_aXxMDALdLBdW


Watch Video Solution

14. Find the value of 

Watch Video Solution

( − 2sin 70∘)
1

2sin 10∘

15. Express in the modulus amplitude

form.

Watch Video Solution

(√3 − i)

https://dl.doubtnut.com/l/_aXxMDALdLBdW
https://dl.doubtnut.com/l/_qcdRkXMPkLFS
https://dl.doubtnut.com/l/_Wxyvjr1rxQO2


16. If be the sum of the n consecutive terms of

an A.P,find the value of

Watch Video Solution

Sn

Sn + 3 − 3Sn + 2 + 3Sn + 1 − Sn

17. If^9P_5 + 5.  =^I0P_r`, find r.

Watch Video Solution

^ 9P4

18. If and  be two roots of the equation (x-a)

(x-b)=c then show that a and b are the roots of

α β

https://dl.doubtnut.com/l/_4XseVIOvkTgY
https://dl.doubtnut.com/l/_KI4UVrGv7D5O
https://dl.doubtnut.com/l/_sD9qCKjQ31GS


Watch Video Solution

(x − α)(x − β) + c = 0

19. Find the point on the straight line 3x-

4y=25,nearest to the origin .

Watch Video Solution

20. Find the centre and the radius of the circle.

Watch Video Solution

2x2 + 2y2 − 4x + 8y − 4 = 0

https://dl.doubtnut.com/l/_sD9qCKjQ31GS
https://dl.doubtnut.com/l/_pVp5yEpSA7Zg
https://dl.doubtnut.com/l/_PkWQT6lPhy8i


21. If  be a variable parameter find the curve

whose parametric equations are

Watch Video Solution

θ

x = (3 − cos ec2θ)&y = 2 + cot θ
1

4

22. Find the area of greatest square that can be

inscribed given straight lines :2x+5y+8=0&2x+5y-

12=0

Watch Video Solution

https://dl.doubtnut.com/l/_PkWQT6lPhy8i
https://dl.doubtnut.com/l/_4s9M9wrDfRUF
https://dl.doubtnut.com/l/_TD6kAHxmN2v0
https://dl.doubtnut.com/l/_nMxUniMwIbj6


23. Evaluate :

Watch Video Solution

lim
x → 1

x + x2 + x3 + ... + xn − n

x − 1

24. If y=(1-x)(2-x)(3-x)…(n-x),find dy/dx

Watch Video Solution

25. show that 

Watch Video Solution

lim
n → 0

=
3√n + 1 − 1

n

1

3

https://dl.doubtnut.com/l/_nMxUniMwIbj6
https://dl.doubtnut.com/l/_BqK4cX73lstG
https://dl.doubtnut.com/l/_J5w2NbRNO024
https://dl.doubtnut.com/l/_NriLmdIx7fJ1


26. For any two sets A,B ,prove that

Watch Video Solution

(A ∩ B)' = A' ∪ B'

27. If show that 

Watch Video Solution

+ = 1
cot(α − β)

cot α

cos2 γ

cos2 α

tan2 γ + tan α cot β = 0

28. If sinx-siny=a and cosx+cosy=b,prove that

tan( ) = ± √
x + y

2
4 − a2 − b2

a2 + b2

https://dl.doubtnut.com/l/_NriLmdIx7fJ1
https://dl.doubtnut.com/l/_SjNL0wLzwJVO
https://dl.doubtnut.com/l/_GWt12fGMJW1W


Watch Video Solution

29. Prove that

Watch Video Solution

+ + = (tan 27θ − tan θ)
sin θ

cos 3θ

sin 3θ

cos 9θ

sin 9θ

cos 27θ

1

2

30. If and 

,then prove that 

Watch Video Solution

tan( ) = tan3( )
θ

2

ϕ

2

tan ϕ = 2 tan α θ + ϕ = 2α

https://dl.doubtnut.com/l/_GWt12fGMJW1W
https://dl.doubtnut.com/l/_jWe4FDQ0YaId
https://dl.doubtnut.com/l/_NDEsDE69utRh
https://dl.doubtnut.com/l/_FI64VuS9SI9s


31. If a,b are real and ,then prove

that the equation.  is satisfied

for all real values of x.

Watch Video Solution

a2 + b2 = 1

= a − ib
1 − ix

1 + ix

32. If the roots of the equation

and where 

.Differ by a constant ,prove that p+q+1=0

Watch Video Solution

x2 + 2px + q = 0 x2 + 2qx + p = 0

p ≠ q

https://dl.doubtnut.com/l/_FI64VuS9SI9s
https://dl.doubtnut.com/l/_NFyEMBtqGoud


33. Prove that the product of any r consecutive

natural number is always divisible by r!.

Watch Video Solution

34. Find the rank of the word LAKE,when the

letters are arranged as in a dictionary.

Watch Video Solution

35. The sum of three numbers in G.P is 70.If the

two extremes be mulitiplied each by 4 & the

https://dl.doubtnut.com/l/_j4iEWwmQGBZN
https://dl.doubtnut.com/l/_agsy5x8PcsJo
https://dl.doubtnut.com/l/_l5iz6IQYDLu8


mean by 5,the products are in A.P.Find the

numbers.

Watch Video Solution

36. A ray of light comming from (1, 2) to the x

axis at A and reflecting with the point (5, 3). Find

the co-ordinate of A.

Watch Video Solution

https://dl.doubtnut.com/l/_l5iz6IQYDLu8
https://dl.doubtnut.com/l/_db0X1l7c1Il1


37. The equation of a side of a rectangle is

4x+7y+5=0 and the two vertices are (-3,1)&

(1,1).Find the equation of other three sides.

Watch Video Solution

38. Find the equation of the circle described on

the common chord of the circles

 and 

 as diameter.

Watch Video Solution

x2 + y2 − 4x − 5 = 0

x2 + y2 + 8x + 7 = 0

https://dl.doubtnut.com/l/_fIzX4Lfp1aMH
https://dl.doubtnut.com/l/_i4fHhewxYYoO


39. Find the equation of the parabola whose

focus is at the origin and the equation of the

directrix is x+y=1

Watch Video Solution

40. Evaluate :

Watch Video Solution

lim
x → 0

√cos x − 3√cos x

sin2 x

https://dl.doubtnut.com/l/_HokK8DDONYqy
https://dl.doubtnut.com/l/_WNuNiEXI4KwQ


41. Find from first principle,the derivative of

Watch Video Solution

√tan x

42. If ,Prove that

2xydy/dx=x/m-m/x

Watch Video Solution

y = √ + √
x

m

m

x

https://dl.doubtnut.com/l/_fDbp6V0U4d43
https://dl.doubtnut.com/l/_Fyk4dYPn8KJ2


43. Show that,

Watch Video Solution

tan 7( ) = √6 − √3 + √2 − 2
1∘

2

44. Solve  for

 `(0

Watch Video Solution

θ

4 sin θ cos θ = 1 + 2 cos θ − 2 sin θ

https://dl.doubtnut.com/l/_zMNpC6swWBNm
https://dl.doubtnut.com/l/_22MT5kBiO6tJ


45. Exhibit graphically the solution sets of the

following system of linear inequations.

, , ,

Watch Video Solution

x − 2y ≤ 3 3x + 4y ≥ 12 x ≥ 0 y ≥ 0

46. state the fundamental theorm of algebra

and solve the equation 

Watch Video Solution

3x2 − 5ix + 3 = 0

(i = √ − 1)

https://dl.doubtnut.com/l/_w5ObkulHEDDD
https://dl.doubtnut.com/l/_rFzMLGo7YAqE


47. Find the number of selection that can be

done from the letters of the word

STATISTICS,taking 4 at a time.

Watch Video Solution

48. Find the sum of the series upto a n terms

to n terms.

Watch Video Solution

2 + 3.3 + 4.32 + 5.33 + ... +

https://dl.doubtnut.com/l/_5Yuz5yCqMlum
https://dl.doubtnut.com/l/_qHz9DL8cuJ42


49. Show that the straight line (a + 2b) x + (a

-3b)y + b -a = 0 always passes through a fixed

point. Find the co-ordinate of that point.

Watch Video Solution

50. Show that for all values p.the circle

passes through the point (3,1).If p varies,find the

locus of the centre of the above circle.

Watch Video Solution

x2 + y2 − x(3p + 4) − y(p − 2) + 10p = 0

https://dl.doubtnut.com/l/_a4xnSugtdqgN
https://dl.doubtnut.com/l/_LJjAKPxyATX3


51.  is a double ordinate of the parabola 

,find the equation to the locus of its

point of trisection.

Watch Video Solution

¯̄¯̄̄ ¯PQ

y2 = 4ax

https://dl.doubtnut.com/l/_MPsTgZrz0nk8

